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Entries  518933

Mean x   4.952±  443.5 

Mean y  0.03374± -14.34 

RMS x   3.502±  490.2 

RMS y  0.02386±   3.34 

Integral     9799
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Entries  518933

Mean x    6.14±  546.2 

Mean y  0.02989± -14.19 

RMS x   4.342±  612.7 

RMS y  0.02113±  2.982 

Integral     9957
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Entries  518933

Mean x   5.575±  497.5 

Mean y  0.0296± -14.37 

RMS x   3.942±    552 

RMS y  0.02093±   2.93 

Integral     9802
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Entries  518933

Mean x   5.526±  492.5 

Mean y  0.02961± -14.37 

RMS x   3.907±  547.8 

RMS y  0.02094±  2.935 

Integral     9828
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Mean x   5.526±  492.5 
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Entries  206338

Mean x  0.001605± -0.001799 

Mean y  0.04899± -14.34 

RMS x  0.001135± 0.1079 

RMS y  0.03464±  3.295 

Integral     4522
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Entries  206338

Mean x  0.001612± -0.001503 

Mean y  0.04426±  -14.3 

RMS x  0.00114± 0.1085 

RMS y  0.03129±  2.979 

Integral     4532
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